Day 3 - Arithmetic Series after.notebook

Questions from Homework
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Rrithmetic eries

Series: The sum of the terms of a sequence. The
sum is usually finite: 1+2+3+4+5. However
it could be infinite: 2+4+8+16+... You can
find the sum of many finite series and certain
types of infinite series by using formulas.

S = %(2& +(n-Dd)

; Iy :
.LSH = E(Q +tﬂ)

Ex. 9454+ W+ 14

Sum oF e Tuest Ko Leens

'kq: \\ Sq= 36


http://www.ucl.ac.uk/Mathematics/geomath/level2/series/ser2.html
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Find the sum of the first 100 terms of the
arithmetic series 1+4+7+10+...

a=1 S = E(_Zﬂ +(n-1d)
d= tz-tl =3 2
n=100 Swo= Lca&buh (100-)3)

Seo = 50(3+ 1)
Seo = 0 (39)
Qo = 4330
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Find the sum of the following series

3 df'"%
.1+5+2,,....+'_2__2 "3

Hint: How many terms are there?
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How many terms are 1n the series:
3+8+13+...+248 1f its sum 1s 62757
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Find the indicated sums of the following
series:

Sis Of26+10... J- 15 PO+ (5D

n:\z = \_%[L\J‘\‘\('-\ﬂ
O\";
3= 4 - 18 [443€]
- 15 (&
2
= 450
o-(cB) =5
S, of -_1_5\-}0-5+... \_05_%:?} 5 |
Nn=d0
s S0 20 (264 (0-)5)
3= - [30+196)]
- 0 [’ 30*‘15]
- (069
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Homework
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